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End of Material for Midterm 2

 Midterm Exam #2 Friday Apr 26th
— Lectures 20 - 33
— Homeworks 6 - 9
—Quiz3-4
— Chapter 17 (17.1 -17.5) and Chapter 14 (all)
— Experiment 3




Chapter 15
FREQUENCY RESPONSE




L22 - Frequency Response Interpretation
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Laplace Explanation
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Frequency Response and Circuit Behavior
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Complex Poles
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Bode Plots Iolag = 20eg (110 1)
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Semilog Paper
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dB Scale

Decibels Table 8.1. Expressing magnitudes in decibels
|| G ||dB =20 log,o(" G ||) Actual magnitude Magnitude in dB
1/2 — 6dB
Decibels of quantities having 1 0 dB
units (impedance example):
normalize before taking log 2 6 dB
||Z|| 5=10/2 20 dB -6 dB =14 dB
|| z ||dB =20 loglo( Rbme) 10 20dB
1000 = 10° 3+ 20dB = 60 dB

5Q is equivalent to 14dB with respect to a base impedance of R, , =
1Q), also known as 14dBQ.

60dBuA is a current 60dB greater than a base current of 1A, or TmA.

Fundamentals of Power Electronics 9 Chapter 8: Converter Transfer Functions
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